

012 n-tes fides SPS

$$f = e^{ax} (P(x) \cos Q(x) + Q(x) \sin Q(x))$$

$$y' + ay = 8 \cos x \quad y(0) = 0 \quad y'(0) = 1$$

$$y' + ay = 0$$

$$y_H = c_1 e^{0x} \cos(3x) + c_2 e^{0x} \sin(3x) \quad c_{1,2} \in \mathbb{R}$$

$$\lambda^2 + a = 0$$

$$\lambda = 0 \pm 3i$$

$$8 \cos x = e^{0x} (8 \cos(1x) + 0 \sin(1x)) \quad \text{St}(P) = \text{St}(Q) = 0$$

$$y_P = x^0 e^{0x} (A \cos(1x) + B \sin(1x))$$

$$\mu + i\nu = 0 + i^1 \quad \text{je } 0 + i \text{ k\u00f6nnen?}$$

$$\Rightarrow 0 + 3i^0 \text{ 1-w\u00e4s} \rightarrow x^1$$

$$y_P = A \cos x + B \sin x$$

$$y'' + ay = 8 \cos x$$

$$y_P' = -A \sin x + B \cos x$$

$$y_P'' = -A \cos x - B \sin x$$

$$\underline{-A \cos x} - \underline{B \sin x} + \underline{9A \cos x} + \underline{9B \sin x} = \underline{8 \cos x} + 0 \sin x$$

$$\cos x: \quad -A + 9A = 8$$

$$A = 1$$

$$\sin x: \quad -B + 9B = 0$$

$$B = 0$$

$$y_P = 1 \cos x + 0 \sin x = \cos x$$

$$\text{Zuletzt: } y = y_H + y_P$$

$$y = c_1 \cos(3x) + c_2 \sin(3x) + \cos x$$

$$x \in \mathbb{R}$$

$$c_{1,2} \in \mathbb{R}$$

$$y(0) = 0$$

$$y'(0) = 1$$

$$y' = C_1(-\sin(3x) \cdot 3) + C_2 \cos(3x) \cdot 3 - \sin x$$

$$0 = y(0) = C_1 + C_2 \cdot 0 + 1 \quad C_1 + 1 = 0 \quad C_1 = -1$$

$$1 = y'(0) = C_1 \cdot 0 + C_2 \cdot 3 - 0 \quad 3C_2 = 1 \quad C_2 = \frac{1}{3}$$

P.P.daj:  $y = -1 \cos 3x + \frac{1}{3} \sin 3x + \cos x$   
 $x \in \mathbb{R}$

---

$$y'' + y = x + \sin x$$

$$y'' + y = 0$$

$y_h$

$$y'' + y = x$$

$y_{P1}$

$$y'' + y = \sin x$$

$y_{P2}$

$$y = y_h + y_{P1} + y_{P2}$$

$$y'' - 2y' + y = \frac{e^x}{x}$$

$$x \in (-\infty, 0)$$

$$x \in (0, \infty)$$

$$y'' - 2y' + y = 0$$

$$\lambda^2 - 2\lambda + 1 = 0$$

$$(\lambda - 1)^2 = 0$$

$$\lambda = 1 \quad 2 \text{ -veis.}$$

$$y_{\text{hom}} = c_1 e^{1x} + c_2 x e^{1x}$$

$$y_p = c_1(x) e^x + c_2(x) x e^x$$

$$\rightarrow y_p' = \underline{c_1' e^x} + c_1 e^x + \underline{c_2' x e^x} + c_2 (e^x + x e^x)$$

$$\text{weil} \quad \rightarrow c_1' e^x + c_2' x e^x = 0$$

$$y_p'' = c_1' e^x + c_1 e^x + c_2' (e^x + x e^x) + c_2 (e^x + e^x + x e^x)$$

$$c_1' e^x + \cancel{c_1 e^x} + c_2' (x e^x + e^x) + c_2 (\cancel{e^x} + \cancel{x e^x}) - 2(\cancel{c_1 e^x} + c_2 (\cancel{e^x} + x e^x)) + \cancel{c_1 e^x} + c_2 x e^x = \frac{e^x}{x}$$

$$\rightarrow \frac{c_1' e^x + c_2' (x e^x + e^x)}{c_1' e^x + c_2' x e^x} = \frac{e^x}{x} \quad -1$$

$$0 + 0 + c_2' e^x = \frac{e^x}{x}$$

$$c_2' = \frac{1}{x} \quad \underline{c_2 = \ln|x| + D_2}$$

$$c_1' e^x = -x e^x \cdot \frac{1}{x}$$

$$c_1' = -1 \quad \underline{c_1 = -x + D_1}$$

$$\text{Lösungsmady: } y = \underbrace{(-x + D_1)}_{c_1} e^x + \underbrace{(\ln|x| + D_2)}_{c_2} x e^x$$

$$x \in (-\infty, 0), \quad x \in (0, \infty)$$